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— Sd0lE ™H2lAS 3,360,000& x60= 201,600
= 100,800
< 30,240
e 70,560
s MEsd M (BZ2ES/HII8) ,953,814 1,447,455 506,359
= 10,697
= 12,569
s ,930,548
Mol Z2E 2 HES 785,918 685,537 100,381
= 10,697
< 12,569
e 762,652
MMy Il =1 & HMel 710,918 610,537 100,381
101 @14 Hl 107,328 96,397 10,931
04 JIZHHZ22XRHEE S 107,328 96,397 10,931
OHte JIZ28A & MEEE = 95,114
—Jl=s 44,6403 +7H x200 62,496
- =54 44 6403 +7H x52 16,249
— QX 44 6403 «7H 152 4,688
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2N
X ZH -
L= B

el

MEEY ZLH(B#ZES/HIIE)
22 o Ee
S = =2 o

BE .G (3) - MY - BES il &t o il RS2
—EEZ(4UEE) 83,433,000& *14% 11,681
Ot X MeJ] =H(0FAH, otolH) 12,214
—Jles 44 6403 *4H 602 10,714
—-BEZ(4UHEE) 10,714,000 *14% 1,500
2 B2 | 297,290 281,440 15,850
At 2t el i 28,800 15,500 13,300
OFAZH g & =4 120,000& x 105+ 13l 1,200
OMdDl e & 23 222 MH
250,000 x2& *23] 1,000
QHIIZ2=H 2R= +< 100,000 11 1,100
OstZdilstdE Il=dl 150,000 & 29X x23| 8,700
OHLSALL HEF 22 200,000& 128 2,400
OHIIZE MelAld 22X M2 HLgES
100,000& »9H 900
OSAER HII=2 2cl=H &I #&
90,000 1004 9,000
OSAMER HII2 =58 YRZS(&) MK
150& %30, 0004 4,500
232%4| 268,490 265,940 2,550
O Xt 252,350
— HAXZ(120H) 1,900& %304 #1204 +300 205,200
— X=Z (1) 1,900 304 *1CH*150L 8,550
— ZHI(EH, XIAHX)
1,900& 204 *3CH*100L 11,400
—Xg, ZH FHI|X ¥ A2F P2
1,600,000 »17CH 27,200
OBEZ(HIIZA, NHSIA L&)
850,000 =17CH 14,450
OJEISB RSB (HFNERLZ)
65,0003 «13CH *23] 1,690
202 Odl 16,800 16,800 0
01 = LH 4 Hi 16,800 16,800 0
SASMYD M 228
20,0003 «2EH « 152 128 7,200
OMEMYy I Ml Z2UHoEI(2EX)
10,0003 «8H 10 «12& 9,600
206 M= Hl 86,400 64,800 21,600
01 =8l 86,400 64,800 21,600
OJXzdx & 33& PPEN N
800& +3,0000H 2,400
OMYIIEEH #EASE HE(65)
2503 22,0000 x12& 66,000
OMF(MHESS)22l+=H I+
120,000& »150% 18,000




A SASE D
M WS MEHA XL (BHFES/HIIS)
Belr X0 2 X HEE

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
301 et a = 7,100 2,100 5,000
09 HALAHIE& S 5,000 0 5,000
OHELBALA HOIS M2 AL As &IOtA B4
7,000 «50H x4 3] 1,400
OFLSALAL &K Ast 60,0003 «60E »12 3,600
1MIIEELES 2,100 2,100 0
OMEBES(I=HIIS) =8 2= SH A& 2,100
— i 1,000,000 x15 ™ 1,000
-% = 500,000 15 ™ 500
- o 300,000& x2S ™ 600
307 21201 A 152,000 110,000 42,000
05 RIZt2IE = 152,000 110,000 42,000
OSAEF HII= =Xl
120,000& =1, 100& 132,000
Od=sHIIS(BAIEE ) el 100,000& 200 20,000
401 Al HI YL = TH Yl 35,000 30,000 5,000
01 A& tl 35,000 30,000 5,000
OMYIl BHEXE 24 &L 22l (g, oto,
=) 500, 000& 2001 2~ 10,000
OMdDl HHEXE KA 5,000, 000 *54 & 25,000
405 RHoHF S HI 9,000 9,000 0
01 et EZFH S 9,000 9,000 0
ONgss8 2el=AHEIIREER)
300,000& *30% 9,000
HHlE==HUIXI& 75,000 75,000 0
= 10,697
< 12,569
s 51,734
301 et d s 75,000 75,000 0
= 10,697
= 12,569
s 51,734
NJEEd=s 75,000 75,000 0
OZHIE= At 75,000
— HHlE =28l X& 100& 750, 000kg 75,000
= 10,697
= 12,569
s 51,734
HIIS HMelAl& 1,167,896 761,918 405,978
HII2 XM2AlE 2F 451,245 319,661 131,584
101 @124l 54,716 52,701 2,015
04 JIZHHZ2XNSE S 54,716 52,701 2,015




2M: SAEZD
FM: Y MEsA R4 (S#ZES/HIISE)
Sl HIIZ MelAld (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OMgDl & HEES Hd 54,716
—JlZ2s 44,6403 x4H 200 35,712
— 2tAlH| 3,000& *4H 200 2,400
-5 44 6403 +4H 452 8,036
— X< 44 640 +4H x 122 2,143
—EEH=Z4UEE) 45,890,000 «14% 6,425
201 ¢er24l 258,700 176,160 82,540
01 At22t2l bl 182,700 89,600 93,100
OHJIZE MelAlE 22X 2l
7,000 +7& %100 4,900
ONgd 2 € EXNHY I 2= 81,600
— =247 600,000& *82| 12 57,600
—gZEY 500,000& *43| 122 24,000
ONAIE HR+ FIIAMN AL+4+2(HIIS
2elg) 47,200
—&EE+ 350,000 404 & +12& 16,800
— XIGot== 250,000& 120 2 43 12,000
—XNE= 500, 000& *2JH 2 *43] 4,000
—HEAE JtAEA 300,000 400 A +123] 14,400
OMEZZ MHEAME(0E2,H2) M=22IEE
N =2 (HIIS22/Y) 46,800
—&oIEE =2 6,000, 000& 204 2~ *13] 12,000
—HEHI= 24 1,200, 000& *6H 2= 13 7,200
— &&= 350, 000& *20H 2 43 2,800
— Klot== 250,000& *6H 2 43 6,000
—NE= 500, 000& »4JH 2 *43] 8,000
—EAQHE XA 1,200, 000& *8H 2= 13 9,600
—HEAIE JtAEA 300,000& *40H 2= *13] 1,200
OHPVIZXcIAIE 225 22 100,000& x4 400
OHALAE2BAA LSH(MEE A8 S23F)
100,000& «3H »23| 600
OHJIE MelAMe 4 &7 7Y
300,000& 43| 1,200
02 =24l 76,000 86,560 A 10,560
OHIIZS(HE, HES)AE 2223 HA
3,500,000 «12& 42,000
Ost=HIl=gsldl s 2,000, 000& =12 2,000
OANEZH XU, WESAE)
500,000 *10& * 12 5,000
ORQ21dHl CCTV Ar8 iz 15,600
— A&7 HE AL 500,000& =128 6,000
—JIE HEAH 500,000& =122 6,000
—d&HJI=S HEHE 300,000& = 12& 3,600




2M: SAEZD
M NG MBS ZA(BALS/HIIS)
S HIIE MelAl4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHIISEEMel¥ daH(ZHls 8)
1,900& 204 *3=*100 11,400
206 M= Hl 51,300 45,800 5,500
01 =8l 51,300 45,800 5,500
ONM&sSHE A28 F2 100,000 «105 *43] 4,000
OMEEE +Z2Us WXy 2A(1E8)
10,000& »5000H 5,000
OHYIIZ HEANE =EM 2L
2,000,000& =53] 10,000
OPETE =D 252 7Y 2,500,000& *1ton 2,500
QHIISMelAld LdAAZ(4SH 12 )
30,000& 200 6,000
OUEAE M P (AHMNE 20¢ )
60,000& x50 3,000
OF =+ HMelAE 457
20,0003 2 & +4FZ +30%£ 4,800
OHFAE A28 (&L, OtA3 8)
5003 «50H «2& 280 14,000
OHYIS™elAE BAEFE 7
500,000& *43| 2,000
401 Al HIZ 201 I 85,000 40,000 45,000
01 A& HI 85,000 40,000 45,000
OMEAE E= 20,000, 000& *1JH 2 %1 Al 20,000
QUIE)a&Es HMeld X S EX3A
10,000, 000& 14! 10,000
o) Haess AMEA(IX, DE)IIx ¢
WA HXI3A 15,000, 0002 14! 15,000
OMgs dEAE EX(LFI S)
2,500,000 x2E x23| 10,000
OHJIZE MelAlZ W ZHl =&l
5,000,000& x23| 10,000
O4&l7 R AE2 XA AI2E S (3M
) 20,000,000& » 14! 20,000
405 RHoHE S HI 1,529 0 1,529
01 AL EZFH S 1,529 0 1,529
OFALGRIALA MED FL(RBUNLDEL
=8 e AD) 600,000+ 1CH 600
O3EAHM 5l 929,000 104 929
HII2 22AE 29 716,651 442,257 274,394
101 @124l 171,991 142,117 29,874
04 JI2ZtHZ22HEE = 171,991 142,117 29,874
OL2ZAE 23 171,991
—Jles 47,6903 6% x250 71,535
T4 47,6903 «6H x50 14,307
B PN RS 47,6903 +6H x152 4,293
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SAEZ 0
WS MEsA ILH(BHFES/HIIS)
HII2 HMelAld (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A EIEEPN
5,960 x6H *80Al 2t » 12 »50% 17,165
—ZUZRFE
5,960 *6H *50 Al 2k 12 » 150% 32,184
—ZS2A2JSA HBHL(A2AHSEL 2
el)=¢ 100,000 x6H »12& 7,200
— g+ 40,0003 «6H x122 2,880
— 2hAlH| 3,0003 «6H 10 =128 2,160
—EEZ(4UEE) 144,764,000 * 14% 20,267
201 LEr2 Y| 279,000 119,600
01 At 22l 74,000 12,400
OJIAINF Jtsy 7Y 300,000& =63l 1,800
OLZAE 228 P2Y 1,000,000& x43| 4,000
OA2HI A HOIE Mel AE =2
200,000 x60& 12,000
otieg it =& /& =2
500, 000& »52== 26,000
OA2AAE L0244 2F =2 (2L NE
=2 IE) 6,000,000& x13 6,000
OQOIE)AZUAE HM I B2
20,000,000 » 14! 20,000
OLZUANE MEEE 7Y 100,000& »123] 1,200
OLAANE 222 FY(LIEHES, gE= S
) 500,000& 6 3,000
02 =24l 205,000 107,200
OHIIS (A2 HE HES)AE S22 HA
12,500,000& =122 150,000
O&IItHHA =2 700,000 128 8,400
Ot @3 (d2u, M8 5)
300,000& x12& 3,600
Oag F23H =82 1,000,000& *12] 1,000
O2x2ANE 28 |RFJH 1,700,000 128 20,400
OEgef =2 4 S 1,500, 000& 43| 6,000
O3JIE=EI XNE= 3,000,000& x23l 6,000
O22AIE A& Hl |Xidl 800,000& »12& 9,600
202 oddl 1,440 0
01 2U 01 b 1,440 0
OBZINZANE (422 S) Y2XA L A5
60,000 *4H »6 2] 1,440
206 M= Hl 47,900 3,600
01 MHZ 4l 47,900 3,600
OA2ANE 28 435 ¢ 47,900
— WOy IEE =Y A4S 3002 *4,000k 1,200




2M: SAEZD
FM: Y MEsA R4 (S#ZES/HIISE)
JI2 HMelAlE ool E )
= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
—FoAABISE WY AA35
2,000,000& x12& 24,000
— 388 24 1,300& +5,000kg 6,500
—dFHNHE BLE 4,000& *500kg 2,000
—CoI=s4 Mg 2248
900,000& »12& 10,800
— 22 F2H 50,000& x50 2,500
—0l2ua=X 3,000& *3004 900
301 et d=s 1,320 0 1,320
09 HALAHIEA S 1,320 0 1,320
OSFANESAI HIISA2ZAIE AS HIIA B
o 7,000 «15H x4 3 420
OSZANEEAR Q&K AS
60,0003 «15H 13| 900
TAIEHI &2 215,000 95,000 120,000
01 A& Hl 215,000 95,000 120,000
O22ANE RX.E= 15,000, 000& 15,000
QOIE)AUANE ENHE 50,000,000& =14 50,000
OAx22 delHlole XA
150,000, 000& * 14 150,000
S(SAEE) (P ES /Mot E - =) 1,635,000 1,665,000 30,000
Hel XI= 1,635,000 1,665,000 230,000
AH HES 1,635,000 1,665,000 230,000
701 JIEtSI HEHES 1,600,000 1,650,000 250,000
01 JIEtSIHE &S 1,600,000 1,650,000 A 50,000
Ox=ZMEEEINH HES 1,600,000, 000& 1,600,000
702 013HES 35,000 15,000 20,000
0MII2d8E3 35,000 15,000 20,000
O=SAZDFHII2 BE3 (=8, HHE =
g=) 15,000,000& 15,000
OHJISHeAE FHXAXAI S (MAIIESE
o 2HEROH K O] 10%) 20,000,000& 20,000
HYR2IZHI (S A D) (IIEH/DIEH) 130,672 122,032 8,640
Jl2&dl 130,672 122,032 8,640
JlE2&l 130,672 122,032 8,640
201 et 67,792 67,792 0
01 At 221l 67,792 67,792 0
ORNSH 1,831,000& «32& 58,592
O= &l 7,000 *32H x252 5,600
OFXR=AD X (MRA, HIISHME)
150,000& =2CH 12& 3,600




SA: SASAD
HM: HH2HAH (S ASZD)(IIEH/DIIE
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
202 0db] 58,560 49,920 8,640
01 2LHOHI 58,560 49,920 8,640
O21 0 bl 90,000& *32H x12& 34,560
O&2 bl 75,0003 *32H x10 24,000
203 &R =AY 4,320 4,320 0
04 EANSHLRF=AH| 4,320 4,320 0
OFRANESELgRFA 360,000& x12& 4,320
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